
Workshop Table Saw Storage Cabinet

Every workshop needs more storage. This easy to build Table Saw Cabinet provides 4 drawers and a large cabinet space to

store your saw blades, jigs, patterns and other accessories. Mounted on casters it can be moved from under the Table saw

and used as a handy extra bench top.

Difficulty

Moderate

Page 1 of 12



Tools
Kreg Tools

Portable Crosscut

Wood Project Clamp - 6"

Kreg® Pocket-Hole Jig 720

Other Tools

Drill Press

Jigsaw

Miter Saw

Table Saw

Tape Measure

Drill (cordless)

Drill Press

Nail Gun

Random Orbital Sander

Air Compressor

Materials
Wood Products

Plywood , 3/4" Thick , Full Sheet2

Plywood , 3/4" Thick , Half Sheet1

3/4" Oak , 1x4 , 48"1

Hardware & Supplies

Ferrari Hinges H91081AGGWS2

Kreg 1 1/4" Coarse Pocket Hole Screws175

3" Casters4

Minwax Polycrylic Finish1

Optional Edge Banding1

Titebond I Woodglue1

100 - 220 Grit Sandpaper8

Drawer Pulls4

Door Pull1

1 1/4" Brad Nails50

Page 2 of 12

https://www.kregtool.com/shop/cutting/circular-saw-cutting/portable-crosscut/KMA4000.html
https://www.kregtool.com/shop/clamping/clamps/wood-project-clamp---6/KHC6.html
https://www.kregtool.com/shop/pocket-hole-joinery/pocket-hole-jigs/kreg-pocket-hole-jig-720/KPHJ720.html


Cut List & Parts
Door Front , 3/4" X 23 1/4" X 13 3/8"1

Drawer Front , 3/4" X 22 9/16" X 7 11/16"1

Drawer Front , 3/4" X 22 9/16" X 5 15/16"1

Drawer Front , 3/4" X 22 9/16" X 4 15/16"1

Drawer Front , 3/4" X 22 9/16" X 4 7/16"1

Front Apron , 3/4" X 34 1/2" X 2"1

Drawer Sides , 3/4" X 23 1/4" X 6 15/16"2

Drawer Sides , 3/4" X 23 1/4" X 5 3/16"2

Drawer Sides , 3/4" X 23 1/4" X 4 3/16"2

Drawer Sides , 3/4" X 23 1/4" X 3 11/16"2

Drawer Back , 3/4" X 19 15/16" X 5 3/16"1

Drawer Back , 3/4" X 19 15/16" X 6 15/16"1

Drawer Back , 3/4" X 19 15/16" X 4 3/16"1

Drawer Back , 3/4" X 19 15/16" X 3 11/16"1

Drawer Bottoms , 3/4" X 23 1/4" X 20 11/16"4

Cabinet Bottom , 3/4" X 34 1/2" X 23 1/4"1

Cabinet Back , 3/4" X 34 1/2" X 25 1/4"1

Cabinet Sides , 3/4" X 25 1/4" X 24"2

Cabinet Divider , 3/4" X 23 1/4" X 22 1/2"1

Cabinet Top , 3/4" X 37 1/2" X 26 1/4"1

Drawer Glides - Oak , 3/4" X 23 1/4" X 3/4"6

Page 3 of 12



Directions
Introduction
Please be sure to read through complete instructions before you begin any work on this project. Keep in mind that plywood

may be slightly thinner than its stated thickness. 3/4" plywood may actually be 23/32". So some minor adjustments to plans

may be required. A good practice is, after the original carcass is assembled, cut all additional pieces to fit. While every effort

was made to make the cut dimensions listed as accurate as possible, cutting to fit will adjust for any slight discrepancies in

your assembly. These plans use plywood for all parts except the drawer glides. If you want to make it fancier you can use

edge banding...but you will have to make some size adjustments. As I had poplar on hand I used it for drawer fronts.

Cut Plywood Carcass
Cut the back, bottom, top, sides and middle divider as shown.

1

2

Page 4 of 12



Add pocket holes to bottom
Use Kreg pocket hole jig (set to 3/4" for all pockets on this project) to drill pocket holes in both ends and the back edge of

the 3/4" plywood bottom cut in step two. It is a good idea to mark where you are putting the holes to prevent mistakes.

Add pocket holes to sides
Using Kreg pocket hole jig , drill pocket holes in the tops of both of the 3/4" plywood sides cut in step two. It is a good idea to

mark where you are putting the holes to prevent mistakes.

3

4

Page 5 of 12



Add pocket holes to back
Using Kreg pocket hole jig , drill pocket holes in the top and both sides of the 3/4" plywood back cut in step two. It is a good

idea to mark where you are putting the holes to prevent mistakes.

Add pocket holes to center divider
Using Kreg pocket hole jig , drill pocket holes in the top, bottom and back side of the 3/4" plywood center divider cut in step

two. It is a good idea to mark where you are putting the holes to prevent mistakes.

5

6

Page 6 of 12



Assemble the carcass
Sand all of the pieces that you have prepared so far. I normally use 100 grit to begin with and finish up with 150 grit. It is

much easier to complete this phase of sanding before you begin assembly. I will use 220 grit for a final hand sanding after

assembly is complete. Using Kreg 1 1/4" coarse pocket screws and Titebond I wood glue assemble the carcass. The top

should overlap the back and sides by about 3/4" and have about 1 1/2" overlap at the front of the carcass.

Cut and add the drawer glides
Cut 6 each 3/4" X 23 1/4" X 3/4" drawer glides from the oak board. Using 1 1/4" brad nails and wood glue attach the glides as

shown.

7

8

Page 7 of 12



Cut remaining plywood parts
Before you begin cutting, remeasure the dimensions of the parts you will be needing and adjust the measurements

accordingly. (CUT TO FIT) Now cut the remaining parts.

Add pockets and attach front apron
Using Kreg pocket hole jig , drill pocket holes in the top and both ends of the 3/4" plywood front apron cut in step nine. It is a

good idea to mark where you are putting the holes to prevent mistakes. Sand with 100 - 150 grit sandpaper. Using wood

glue and 1 1/4" coarse pocket screws attach the front apron.

9

10

Page 8 of 12



Cutting the drawers bottom dados
For each set of drawer materials use a table saw to cut a 3/8" deep X 3/4 inch wide dado 1" from the bottom of the drawer

fronts and 1/4" from the bottom of the sides and backs.

Add pockets to drawers and assemble
Drill pocket holes at the front outside edge of each set of drawer sides and both ends of the drawer backs. Keep in mind

that each set of sides has a left and right...they are mirror images so make sure you are cutting the pocket holes in the

correct locations. Sand with 100 - 150 grit sandpaper. Using wood glue and 1 1/4" pocket screws assemble the four drawers.

Make sure the drawers are square and adjust if necessary.

11

12

Page 9 of 12



Installing door hinge cups
Use a drill press with a 1 3/8" forstner bit to drill the 2 hinge holes in the door using the dimensions recommended by the

manufacturer of the hinges. Then fasten the hinge cups in place.

Attaching door
On the inside of the cabinet mark the position of the hinge mounting plates. Pre drill small holes for the screws that hold

the mounting plates. Attach mounting plates as per the hinge manufacturers instructions. After the door is mounted use

the various hinge adjustments to properly set the side to side and top to bottom distances.

13

14

Page 10 of 12



Finish
Now that the build is complete use 220 sandpaper to do a once over on all surfaces in preparation for the finish. Clean well

to remove all dust. (I use compressed air and clean dry rags) I did not use a stain, just finished with Minwax Polycrylic Satin

finish. I gave the cabinet and drawer assemblies three coats following manufacturers instructions. After the finish has dried

add door/drawer pulls.

15

Page 11 of 12



Attach casters
Attach casters to the bottom of the cabinet16

Page 12 of 12


	Workshop Table Saw Storage Cabinet
	Tools
	Kreg Tools
	Other Tools
	Materials
	Wood Products
	Hardware & Supplies
	Cut List & Parts
	Directions
	Introduction
	Cut Plywood Carcass
	Add pocket holes to bottom
	Add pocket holes to sides
	Add pocket holes to back
	Add pocket holes to center divider
	Assemble the carcass
	Cut and add the drawer glides
	Cut remaining plywood parts
	Add pockets and attach front apron
	Cutting the drawers bottom dados
	Add pockets to drawers and assemble
	Installing door hinge cups
	Attaching door
	Finish
	Attach casters



